	BURNS STREET RECONSTRUCTION (TAX 2014B)					
UNIT PRICE BID SCHEDULE						
			BASE BID			
Item No.	Plan Quantity	Unit	Description and Unit Price in Words	Unit Price	Total Price	
101	1 .	LS	Mobilization, Complete In Place,	\$40,000.00	\$40,000.00	
102	2	EA	Project Signs, Complete In Place, Dollars and Cents per EACH	\$650.00	\$1,300.00	
103	1	LS	Prepare Traffic Control Plan and Implement, Complete In Place,	\$25,000.00	\$25,000.00	
104	1	LS	Prepare and Implement Storm Water Polution Prevention Plan (SWPPP), Complete In Place, Dollars and Cents per LUMP SUM	\$3,000.00	\$3,000.00	
105	1	LS	Right-of-Way Preparation, Complete In Place, Dollars and Cents per LUMP SUM	\$35,000.00	\$35,000.00	
106	7850	SY	Sawcut, Remove & Dispose Ex. Concrete Pavement, Complete In Place, Dollars and Cents per SQUARE YARD	\$10.00	\$78,500.00	
107	6650	SY	9" Reinforced Pavement with Integral Curb, Complete In Place, Dollars and Cents per SQUARE YARD	\$55.00	\$365,750.00	
108	1500	SY	6" Reinforced Concrete Driveway/Alley Pavement, Complete In Place, Dollars and Cents per SQUARE YARD	\$54.00	\$81,000.00	
109	900	SY	4" Concrete Sidewalk, Complete In Place, Dollars and Cents per SQUARE YARD	\$36.00	\$32,400.00	
110	110	SY	Asphalt Paving, Complete In Place, Dollars and Cents per SQUARE YARD	\$45.00	\$4,950.00	

UNIT PRICE BID SCHEDULE					
Item	Plan		BASE BID	<u> </u>	
No.	Quantity	Unit	Description and Unit Price in Words	Unit Price	Total Price
111	16	EA	Barrier Free Ramp, Complete In Place, Dollars and Cents per EACH		\$20,000.00
112	7	EA	Reconstruct Inlet Top (All Sizes) , Complete In Place,		\$7,000.00
113	1	EA	4'x4' Junction Box, Complete In Place,	3	\$4,000.00
114	500	LF	8" PVC SDR-35 Sanitary Sewer Pipe, Complete In Place, Dollars and Cents per LINEAR FOOT	5	\$18,000.00
115	4	EA	4' Sanitary Sewer Manhole (All Depths), Complete In Place, Dollars and Cents per EACH	1	\$14,400.00
116	1	EA	Sanitary Sewer Cleanout (All Depths), Complete In Place, Dollars and Cents per EACH		\$600.00
117	4	EA	Sanitary Sewer Service, Complete In Place, and Cents Dollars	s	\$3,000.00
118	1	LS	Abandon Existing Sanitary Sewer Line, Complete In Place, Dollars and Cents per LUMP SUM	S	\$1,000.00
119	2	EA	Abandon Existing Sanitary Sewer Cleanout, Complete In Place, Dollar and Cents	s	\$400.00
120	1	EA	Remove Existing Sanitary Sewer Manhole, Complete In Place, Dollar and Cents per EACH	s	\$750.00

	<u> </u>	·	UNIT PRICE BID SCHEDULE		
			BASE BID		
Item No.	Plan Quantity	Unit	Description and Unit Price in Words	Unit Price	Total Price
121	1850	LF	8" PVC C-900 DR-14 Water Line, Complete In Place, Dollars and Cents per LINEAR FOOT	\$36.00	\$66,600.00
122	13	EA	8" Gate Vaive, Complete In Place,	\$1,500.00	\$19,500.00
123	5	EA	Install New Fire Hydrant and Valve Assembly, Complete In Place, Dollars and Cents per EACH	\$5,000.00	\$25,000.00
124	5	EA	Adjust Existing Valve Box to Grade, Complete In Place, Dollars and Cents per EA	\$150.00	\$750.00
125	1	LS	Abandon Existing Water Line, Complete In Place, Dollars and Cents per LUMP SUM	\$1,000.00	\$1,000.00
126	3	EA	Wet Connection, Complete In Place,	\$2,725.00	\$8,175.00
127	2	EA	3/4" Water Service (All Lengths), Complete In Place, Dollars and Cents per EACH	\$775.00	\$1,550.00
128	2	EA	1" Water Service (All Lengths), Complete In Place, Dollars and Cents per EACH	\$1,000.00	\$2,000.00
129	6	EA	2" Water Service (All Lengths), Complete In Place, Dollars and Cents per EACH	\$1,350.00	\$8,100.00
130	50	LF	Concrete Encasement, Complete In Place, Dollars and Cents per LINEAR FOOT	\$40.00	\$2,000.00

	UNIT PRICE BID SCHEDULE				
			BASE BID		
Item No.	Plan Quantity	Unit	Description and Unit Price in Words	Unit Price	Total Price
131	2350	LF	Trench Safety for All Utilities, Complete In Place, Dollars and Cents per LINEAR FOOT	\$0.60	\$1,410.00
132	10	EA	Install Tree, Complete In Place,	\$550.00	\$5,500.00
133	2000	LF	Install Tree Root Barrier, Complete In Place,	\$20.00	\$40,000.00
134	1	LS	Remove and Reset Landscaping, Complete In Place,	\$10,000.00	\$10,000.00
135	15	EA	Remove & Replace Street Signs, Complete In Place, Dollars and Cents per EACH	\$700.00	\$10,500.00
136	1	LS	Repair, Replace and/or Modify Existing Irrigation Systems, Complete In Place, Dollars and Dents per LUMP SUM	\$6,000.00	\$6,000.00

SUB TOTAL TAX 2014 B \$944,135.00